O ZL™OlA AAEF 9] e 9] Zol&?

@6+2\/5 @ 5+2vV5
® 4+2+5 @ 3+2+5
® 2425

AE = V22 + 22 + 22 + 2% = 4,
AF = VE2+22=2+5
wt2bA] AAEF O] 818 758 4+ 2 +2V5 =6+ 2 V50t




the 783} Zo] AAZFR ABCD o) A]

BD & HE& 4o 5lo] HAct. AF 9
ZolE x 2 52 1, BF 2 Zol& x 9
sk Ao 2 YR H?

@ x+14 @ 2x @S—x @ 6-x

AABF = AEDF ©]|E2 AF = x 2} 5}
BF =8 - x o|t}.




oS IO AB =4, /B=45°, /C = A

30° ¢l AABC ol|A 214 A o4 BC 4/

of W& 4ol dre H 2yl & uff, BC g

o] Aol=? JEVAc i 30 I\
26

© 4v3 @ 146 ® 2v3 4+ 2Y0

@)2vz+2+6 ® 82




4. g 283 Zo]l W] Yol7t 1007 cm?
o)1 A9l Zo]7}t 15cm ¢ YE o] o]

® V5em @ 5cm
@En/gcm @ 10cm
® 10V5cm

LHE| §o]7} rr? = 100xr( cm?) o] B2 FHO] F2] 52 10 cm
webA] Q0] %ol h — VIFZ =107 = 5 V5(em) olck.
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5. sin(90°-A) = 3 A, tanA ©] F-27 (T, 0° <A <90°)
5 5 12 13 12
Ve @3 935 @95 O

B

sin (90° — A) = cos A

5
tanA = —
an 12

BEEPN
13cm N

7 5cm
, )
, /

“-12cm--




6.  tan60° x sin 30° — cos 30° X tan 45° 2] Zr&?

@o )

@? @ V3 G 1

N =

B ~

1
tan 60° X sin 30° — cos 30° X tan45° = V3 x 3" \/75 x1 =




7. sin90°+cos0° —tan0° = A , sin0° 4+ tan 0° + cos 90° = B 2+ & o,
AB 9] 327

@ -2 @ -1 @)0 @ 1 ® 2

A=141-0=2,B=0+0+0=00°]22
~AB=2%x0=0




£ 103 201 AB £ A 502 ot
2099 T 4 0B AU AT
A& ABAOW JHMJ%DE} 0
St1, AB = 8cm, /BAC =30° ¥ o), A 40

ACBD 9] §ol& 0}043}.

’ “-8cm-" /B

(BCD = /BAC =30°

/ACB =90° o]2& /ABC = 60°

ACBD ©j|A

/BDC = /CBA - /BCD = 60°-30° = 30°

- 1
. BD = BC = 8sin 30 :8x§:4 (cm)
. (ACBD2] HoJ)

:%x4x4xsin(180°—120°)
=443 (ch)




@ 18 @)19 3@ 20 @ 21 ® 22

~&B

AADC 7t A4 Z4go|ng
x= V152 - 92 = V144 = 12
y=V132-122=+25=5
L2x—y=2x12-5=19




\VARR 4
0x
iy

6.4

)

~&B

BC = V82 +62 =10 o|t}.
OADEB = oBFML ©|2 &
64 = 10 x FM ©o|t}.

kA FM = 6.4 ©|t}.
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11. o

210

.

ul

o

e
oL

X

2 =10V3

.'.x:2\/m







ozt y =

@ V37

? +4x -8 o HEAYP o= HH Y79 A2

@2V @3V @4V O 5VE

<
T8

I

52

(0)

o

L
P

4x-8=(x+2)2-12
(=2, —12) o ¥ Ato] ] A=
(=2)2 + (-12)2 = V148 = 237




14.

W5 0] Zol7} 3em 9 Pol AsHE

AABC oA BC = 5em 9 o, cos A 2] gt
= oY
5v11 5 V10
SV I
11 6V11
@F o5
T34 A .—‘3:—/12_ 7} A g0l HEE o] 5AI7IH, £C = 90°
0

ol2& DC = Vi1




15. o 29 2ol y = 2x +4 o] Jenr} vA

x 9] oFo] B} o] 2L 2] T2 g /
2t & o, sina — cosa 9] 22 B
V3 2 V5
°% 2w 2% a
A -
@5 95 /o7

=~—g--°

wetaats 2ol ofs] HWMe] ol VAT 22 = V30 = 2V5
ojlm g

2 5
sing = 5,cosa = = o]},
w2tA sina — cosa 9 F2 %\/5_ g — g o]t}




16.

0° < x < 90° ol 5}t cos(2x — 10°) =

9

D 15° @20° ® 25°

KN
=

ol

@ 30°

s

Z5t= x 9] 271

® 35°

2x — 10° = 30° o]t}
Sox = 20°




17. ohF 194 AC 9] Zel=?

A
42"

pds

Q

OV @vii OV @ Ve O Vi

oc]
Q




18. o I"4 /BAC =90° ©]aL, AB, AC & A522 o= ¥hel9]
W@l 44 P, Q=2 W, P+ Q °f gh& Fstefzt.

\VARR 4
X
it

50

B

BC = ViZZ+ 162 = 20
P+ Q¥ BC S 2802 sHe wido] Yeolop gong

1
P+Q:§><10><10><7r:507r




19.

D 63 @ 7V3 ® 83 @9«/5

® 10V3

~&B

OE:0D=2:V3=24v3:0D

20D = 72 - OD = 36

OD:0C=+2:1=36:0C

V2 0C = 36 _C:£:18\/§
V2

0OC:0B=2: V3=18v2:0B

20B = 186 . OB =96

OB:0A=V2:1=9v6:0A
V20A=9v6 .. OA=9+3




20. TS 133} 2ol AD1BC ¢ 4724 ABC ol A sinB = cos C ©] 1,
AB = 13cm, AD = 12cm € W, AC 9] Zo]E Falofat,

AD
inB=— = /BADO|E=
sin N ]

/BAD = /Co]t}.
/BAC = /BAD + /DAC = /C + (90° - £C) = 90° ]|t}
AABD O ACAD ©]1, BD = V132 - 122 =5 o|2&
w2k BA : BD = AC : AD 9] A]
~x_ BAXAD 13x12 156

A= —= .
¢ BD ) 5 %




1 2
21. 0°<A<60° ¥, (5 —cosA) - /(cosA +sin30°)2 9] F=

57

1
@ 2sinA 3 sin A @1
-1

@
@ 0 ®
B ~

0° <A <60° 2] H A cosA O] Hel=

<cosA<19]BEZ

DN | =

1
5" cosA < 0 °]t}.

1 2
(5 = cosA) — /(cos A + sin 30°)2
1 .
= — <§ - cosA> — (cos A + sin 30°)
1 .
=3 + cosA — cos A — sin 30°

1
= —= —sin30°
2 S1n




22,

25° 9] lﬂc]-ookgi 7]-J_, B+ A& 8kmZ
5% 3509 o= Zith O A|H&
ZH6HA] 1 A7 30 & 3o & H] AFo]9]
AeE Fstolet

= km

| 2
[> ®e: 3421km

B ~
LAIZE 302 5] 7 69 125 A A, B2t sk, & BollA OA
of Wdl 49 & Het shd
OA =10x1.5 =15 (km)
OB =8x 1.5 = 12 (km)
BH = 125in60° = 6 V3(km)
OH = 12c0s60° = 6 (km)
.~ AH=15-6 =9 (km)
ABHA &= A 7417t go|B g
AB = VAH? + BH2
2+(6\/§)2
=321 (km) ©]t}.




o

dol7t 3, 4, 5, 6, 7 1 HA A

23.

. .

ul

(3, 4, 6), (3, 5, 6), (3, 5, 7), (3, 6, 7), (4, 5, 6), (4, 5, 7),

Kt} AofolB & (3, 4, 6), (3, 5, 6),

g

EREE

(3,5, 7), (3,6, 7), (4, 5, 7) & 5 7Fx]o]t},




24.

o2 12la} Zrol 3F A9 Aot 2em D C
o FewAe BAE FG o FH& 18 & |
o, DI ] Zolg Fsjoiat, AT \
I
I
ATNEE
E“ I

=

=1 cm

>
> &g 3cm

~&B

AHIG oA GI = 1(cm) ©]E2
Al = V22 +12 = V5 (cm)
ADHI 9|4

DI = 22—1—(\/5)2: V9 =3 (cm)




25. T2 19 AABC of|A /A : /B: /C = A
3:4:5°]3, JHY O 9§t 52| Ao]
7} 4em @ W], AABC 9] | o|E F5lojet.
(%, Dol At

vV Vv
N

0.
i}

ol

n

fr 12+443

B

/A:/B:/C=3:4:50]B2
VS VY /N
5.0ptAB : 5.0ptBC : 5.0ptCA = 5: 3 : 4 ©]t}.

AA:ix180°=45°
12

(B = i><180°:60°
12

5 o ___ o
LC = 2 X 180° =175
= /BOC =90°, ZCOA =120°, ZAOB = 150°
AAOB — % « OA x BH ( BHL A2Hg o] o))
BH = 10sin30° °|B2&

1 1
2>< X ><2
1
Zoeuoa AAOC = 5 x4 x4xsin60° =43, ABOC =

%x4><4><sin90°:8

wt2tA] AABC = AAOB + AAOC + ABOC
=4+4V3+8=12+4V3 ot}




